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Impnt Chapter Note: No Government and Taxes Included


Aggregate Expenditure (AE) = C + I + G + X – M
All economic spending 

Disposable Income (Yd) =  Y (Gross income) – T (Taxes)
                                         = C (Consumption) + S (Savings)

Tax Function = t0 + ty (Y) 
(t0) Autonomous tax- tax paid regardless of income
(ty) Marginal Propensity tax,  0 ≤ ty ≤ 1
(Y) Gross Income 

  T
                               slope = ty                  



    t0

                                                Y

**When solving ALWAYS start with ty, solve for t0 **

   T            Y
  50          100 
  70          200

ty= 0.2
t0= 30



Consumption Function = C0 + c (Yd)
(c0) Autonomous Consumption- spent on necessities only
(c) Marginal Propensity to consume- ratio between increase in disposable income to amount spent 0 ≤ c
 ≤ 1
(Yd) Disposable Income (after tax)

Savings Function = -c0 + (1-cy)Yd
(-c0) = money for necessities must come from savings
(1 – cy) = ratio between disposable income and amount saved
** MP to save + MP to consume MUST EQUAL 1

Capital Investment = I = I0
Has nothing to do with any other variable.

Government Spending = G = G0
Has nothing to do with any other variable.

Exports = X = X0
Has nothing to do with any other variable.
Determined by buyer’s spending

Imports = M = m0 + my (Y)
Determined by home country’s sending
(m0) Autonomous imports
(my) Marginal Propensity to import 0 ≤ my ≤ 1

Spending Multipler:

To sum:

AE = c0 + cy (Yd) + I0 + G0 + X0 – m0 – my (Y)
     Let A0 = the sum of I0, G0, X0, m0
     = A0 + cy( Y – t0 – ty Y) – my Y
     = A0 – t0cy + [( 1 – ty)cy-my] Y


         y-intercept          slope ≤ 1 (sum of all MP)

To Solve:

Set AE to Y
Y= A0 – t0cy + [( 1 – ty)cy-my] Y
Y - [(1 – ty)cy - my] Y = A0 – t0cy
Y [1- (1 – ty)cy + my] = A0 – t0cy


Y =             A0 – t0cy
 [1- (1 – ty)cy + my] 


** Both will always be positive (as income increases, more $ spent)
** Chapter 6 assumes t=0 ---> if taxes are NOT given, simply set tax values to zero in formula 

Change in A0 =


ΔY = ______1_______       > 1
ΔA0   1- (1 – ty)cy + my


ΔY 
ΔA0 =Additional GDP due to additional dollars worth of autonomous
          Spending

** Government plays a huge role in (A0) and can use their spending to manipulate overall GDP

3 Determinants of Spending Multiplier :
ty goes down  SM goes up
cy goes up  SM goes up
my goes down  SM goes up 

P
P1

P0                                AS

P2                           
                               AD1   AD2 (new equilibrium)
            Y2   Y1  Y3                Y

Y = C + I + G + X – M
Y – C – G = I + X – M 
Y – C – T + T – G = I + X – M
       S     +    BB =   I +   NX

BB= Budget Balance (The Govt. Savings)
S = Savings
NX = Net Exports

If no one saves (S), and the Govt. is spending (BB), Investments cannot be negative (I) then Net Exports MUST be extremely negative (NX)
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Business Cycle – 4 stages of GDP
Expansion
Peak
Contraction
Trough

An economy above it’s GDP potential = (graphically) Expansionary gap
To stabilize, lower GDP = Contractionary Fiscal Policy 
An economy below it’s GDP potential = (graphically) Contractionary gap
To stabilize, increase GDP = Expansionary Fiscal Policy

Contractionary Fiscal Policy – Cut back on Govt. spending or increase taxes (run when economy is in a surplus)
Expansionary Fiscal Policy – Increase Govt. spending or decrease taxes (run when economy is in a deficit)


-- When Govt. is at GDP potential, the Govt. runs a Balanced Budget

-- Therefore, relevant to BB (Balanced Budget) = T – G  during Recession Govt. budget should be in deficit to compensate 

-- Run surplus in good times, deficit in bad times


3 LAGS of Fiscal Policy:

1. Recognition Lag – delay in recognition 
2. Action Lag – delay in decision of how/where to cut or increase 
3. Affect Lag – delay in implementation of policy 

Note: In Canada, fiscal policy takes about 2 years from recognition to full affect

As GDP increases, taxes increase , Govt. spending decreases

T,G
  G1  _____________   slope= ty
  G0

  T0

                      Y0      Yp      Y
                      = Structurally Balanced Budget 
T = t0 + ty Y

Ways to Regain Structurally Balanced Budget:

Change tax
Change Government spending 
Adjust Marginal Propensity to tax 
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Impnt Chapter Note: No Government and Taxes Included

‘Aggregate Expenditure (AE) = C.+1+G +X-M

Disposable Income (Yd) = ¥ (6ross income) - T (Taxes)
(Consumption) + 3 (savings)

Tax Function = t0.+ty (1)

(1) Autonomous tax- tax pad regardess of incoma.
oina Propensiy tax, 0.5ty 5 1

v

++Whel oiing ALWAYS tart with y,salve for 0




